Al & ol & AF S E M A
20108 = 20l & Leks| K|
SA BAA
300 K u Al
2310 N RRA
st 311 X u Al (EH9l: &2
SN-F- -8 Off &k 04 T E 0l Ak oY Hus2
% A 2,443,028 1,956, 165 486,863
HHA 2,443,028 1,956, 165 486,863
300 XL WAl 2,500 2,500 0
310 XL WAl 2,500 2,500 0
311 g 2Al 2,500 2,500 0
311-03 A DA 2,500 2,500 0
OXIHASHE 29 2,500
500 B X2 2,440,528 1,953,665 486,863
510 22X 23S 1,876,234 1,340,380 535,854
511 2DBX3S 1,876,234 1,340,380 535,854
511-01 2DEX3 1,230,757 756, 135 474,622
ORAA & - M5 844,863
OBAXL AF 358,755
OYK0L HLAX 0
OAR - AMOF £20] X 22,627
OHALTAISH XN (SALL) 0
OFQAAY HE2AA 2AZ2J|12 29| 120
O38xAY 2Ag 200
oYY M2J0s X 1,220
Ostdiax 22l X 2,972
511-03 J12 645,477 584,245 61,232
OXlSst HLSEN Ha 33,250
Oftolet Jetpx 2,886
OBtoler AAEA 2,148
o3¢22Y 29 39,148
o2 =J|1HA 55,430
OMOHXEI| HLZRICH 1,671
Oolx &= 59,650
O+52 2455 =3 7,840
OQIBAFAIZHl X 7,702
O0I=50F & AHA0l40F 2 2H X 9,308
OHHH THAIOIA ZAL & 2H0F 22 3,020
OYars - 0ls A2 2te 3,098
OAlAOF 2t HEAA 314
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